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| think that 3* means

the same as 3 = 3.

L

Is 2(8 + 5) + 1 the same :
2(8)+2(5) + 17

\"4

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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Solve this equation.

Waork with your team to verify
that all four cards have the same ans'

:0000000.0,0,0,0. 0,

Do you agree with Art?

Your team has the same value as 3

Danielle thinks that these two expressions represel
Find that value.

With your team, determine why thess two expressic

What is the value of the cutput when the input is 137
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x+3
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o 3
2 5
4 7

]
Write this phrase as an expressior

Peter has three more apples than Marg
If Margaret’s apples are represented t
how can we represent the number of apples th

]

Find the rule represented in this tak
(Represent the input value as x)
Waork with your team to verify

that all four cards have the same ans'

Ms. Brown asked her class:
“If x is the starting point, what rule is suggested by this number line?”

3x+2
ANSWER y
18

16 -18+ (2 + 1)

x+x+y+y-

22+ 5(2)* - 3(2)

Evaluate this expression when x = 4 and

Waork with your team to verify
that all four cards have the same ans'

]
‘Cordelia thinks the value of this expressi
What do you think the value is?
Waork with your team to verify
that all four cards have the same ans'

]
Evaluate the expression when x = 3 and

Find the value.
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Two of these expressions are equival Carla went to the zoo. She saw 4 times as many monl When m= 2 and z= 1, the value of the expre Manny thinks these two ions are equal. Britt di
Find the equivalent expressions. many zebras as she saw on her last visit. If m represe ‘When m= 3 and z= 2, the value of the expre If you think the two expressions are equal, your team has the same
stands for zebras, write an expression to represen When m=1and z= 2, the value of the expre expression in expanded form. If you think the expressions are not
Your team has the answer expressed in expa monkeys and zebras that Carla saw at the 3 ‘What is the expreasion? equal, your team has the answer 10,
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R You had some money in your wallet and yo Find the value of x Pedro had some baseball cards. His friend Mar Which value for x will make this equation true?
gave you $17 more. You now have 5§ 17 more cards. Pedro now has 25 basebal
300K How many dollars did you have in your This bar model matches your partners’ won Select the equation that matches this situation ar
befire your mother gave you $177 equation, and solution. Your team has the answer to the correct €
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Maria is helping her father pick appl Harry has three times as much money as his brot Marcus has 25 marbles. Sarah has three times as1 Your partners have the correct solution to this problem.
Today she picked three times as many apples as h 1f William has 525, how much money do they ha Marcus has. Select the equation that best represer
If her father picked 25 apples. and solve for m. Use this information to calculate b

how many apples did they pick altoget Use the diagram above to help you find th Marcus and Sarah have altogether. Your team has
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3x + 2y <15
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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Which values for x and y in the table will make thi:

Find the values for x and y in the tal
that will make this inequality true

‘Which values for x and y in the table will make thi Select the values for x and y in the table

that will make the equation true.
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M>125
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M>200
125<M
100 no 120 130

M +200 <250

*
M>1 _——

The sixth-grade class must raise more than 5200 {
So far the class has raised $40 in a bake sale and §
Write an inequality that represents how many doll
needs to raise. (M = the amount of money to

Barry is driving from St Louis to Kansas City. He |
miles and has not covered half the distance yet. If 2
be must travel, select the inequality that represen
(¥our tearn has the same inequality expressed in

Glenda must save more than $15.000 over the nex!

saves $125 each month, will she reach her goal? Sel
that best describes how much money Glenda must
to reach her goal. (M = the amount money p

Ms. Caplan asks her class,
“If we know that 1000M > 125,000, what do we know about M7?”

Write the inequality that answers her question.

ANSWER
195

65=d+t
d =65t

d=%

D = distance in mile

t = time in hours

Val's father drove at a constant speed of 65 mi
What is the value represented by the *7” in the

Graftons mother drove the family car at a constant
per hour. How many miles will she have covere

If d = distance in miles and ¢ = time in hours, select the correct
equation when the rate of speed is 65 miles per hour. Use the equation
to determine how many miles someone would travel in 3 hours at the
rate of 65 miles per hour. (Your tear has the same answer.)

You are traveling at a constant speed of 65 miles
variables above to write an expression that describ
Then use your equation to calculate how m

you have traveled in 3 hours. Your team has
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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What number goes in the parentheses to make the statement true?
If the length of the rectangle is Zx + i, what i is the same as dividing the number by wl
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Select the expression that does not rep Select the expression that is not equivalent to If the perimeter of this equilateral triangle Select the answer that is not equivalent to the expression Sx +10y - 3x.
the perimeter of the square. select the expression that represents one side g
58K (Your partners have the same Roman numeral a (Your partners have the same Roman numeral answer as you do.)
X (Your partners have the same Homan numeral 3 (Your partners have the same Roman numeral a
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A) 12M +12(M - 2) =72 A) 20 adult tickets and 30 student tickets A) M=05P
B) 1ZM +12(M + ) =72 B) T=84+125 B) 60=P+2P+3P
ClI2AM+M-20=T72 C) 480 = 4(3A + 25) C) H=3(+P)

D) 72=12M + 120M - 2) D) 480 =124 + 85 D) 60=P+2iP+L1p

A) 4250+ 425C=T
B) T+4.250 = 4.25C
€ 42500+ 0 =T ——
D) T=4.25C + 4250 ANSWER
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Maria and Foberta each made $12 per hour babysil The seventh grade made 3480 selling tickets to Harry has three times as many baseball ca

earned 572, Maria worked two more hours than Adult tickets cost 512 and student tickets| Mike has half as many cards as Peter. Together. the She made both oatmeal and chocolate chip cookies.

equation could not be used to find out how much Select the above staternent that could not ‘Which statement above cannot be cor Select the above statement that could not be true.
(Your partners have the same letter answer (Your partners have the same letter answer (Your partners have the same letter answer (Your partners have the same letter answer as you do)

Ms. Baker sold cookies for $4.25 per cookie.
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A) 22:2180
B) 180 - 22: 248

ANSWER
D

Latisha has $180 to spend on a sweater and some s}
costs 548 and the shirts cost 522 apiece. How many

and still be within her budget? Select the inequality
situation. (Your partners have the same letter

ANSWER
1

These cube towers need to be pai
We don't have to paint the sides of cubes tha
How many sides will be painted when we have a
(Your partners have the same Homan numeral 3

A) 2(N - 5) =30

Sally is thinking of a number. When she subtracts §

and then multiplies by 2, her result is 30. Whi

describes how to solve for Sally’s num|

(Your partners have the same letter answer

O 00 000,990,000,
O 0000000909990
:9,0,9,0,0.0.0.0.0.0.0.
190%%09:9.9,9.9.9,
SIS
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A) M= 0200200
B) 180 - 0.200120) = M
C)180-120=M
) 180 - 0.800120) = M

Grace has $180 in her bank account. She wants to b
‘on sale for 20% off. The original price of the skal

equation will help Grace calculate what her balang
buys the skates? (Your partners have the same lett

1900006 %0%0%6%4%%
SRR
30K
2 o,

1) y=3x
D y=de+1

The above table shows a pattern. Which equati
could be used to determine the tenth number

(Your partners have the same Homan numeral 3

A) M =1.04(1000)
B) M =0.04{1000)
C) M=096(1000)
D) M - 0.96 = 0.04(1000)

Mario put 1000 in a savings account. The bank
interest per year. Which equation can he use to ca
money he will have at the end of the firg
(Your partners have the same letter answer
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$9.0.0.0.0.0.0.0.0
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

Four students conducted surveys of their classmates

result of each student’s survey is shown above.

the smallest number of students who watched TV
each night?{Your partners have the same letter a

Sally has one more than four times as many
brother Billy has. If Billy has a whole numb
which of the above amounts could Sally ac
(Your partners have the same Homan numeral 3

A) 522.00
B) $30.00
C) $18.00
D) $20.20

Kingsley makes and sells doll clothes. She usually
dresses. She decides to raise her price by 10%. Chg
that represents the new price for 3 drg

(Your partners have the same letter answer
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Mary says, *Consecutive numbers are 1,2, 3.4, and so on”
Jon answers, Yes, and 2. 4, 6, and & are consecutive even numbsers.”
Select the answer that is the sum of the first 11 consecutive even
numbers. (Your partners have the same letter answer as you do.)

131z
nis
18
V) 20

Fierre is thinking of a number.
‘When he multiplies his number by 4 and adds 1, he gets 61,
‘What is his number?
(Your partners have the same Homan numeral answer as you do.)

A)OSN-3:=1
B) fN+3=11
CIOSN-3=11
D) ZN-3=11

Dean is thinking of 2 number.
If he takes one half of his number and then adds -3, the result is 11.
Which equation can be used to find Dean’s number?
(Your partners have the same letter answer as you do)
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Rich Racer got a speeding ticket for doing 50 mph One tenth of what number is 9.6; Find the value.
He was fined 580 plus an additional 10% of
for every 10 mph over the speed limit he

Hew much did Rich Racer have

The football helmet Jayden wants to buy costs $120.

for 20% off. How many dollars will Jayden
Discuss with your group: Be ready to share your approach with
I= it easier to calculate this using a fraction o Sep whether they have another way to solve

Be ready to explain to your team how you found the answer.
Ask them whether they have an easier way.
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same as dividing the value by this
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I know that 3/5 mul
some number is 6.
< the same number m
That means that the
must be 5 time:
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Solve this equation. Do you agree with Michelle's reasoni Solve this equation.

If you do, then your team has the same|
as the correct answer to this equat;
If not, your tearn has -10 as the

Be ready to show your work to your team. Dis
whether there is a different way to solve tl

Share your thinking with your team.
Be ready to show the steps you took to solve this problem.
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:: Express this value as a unit fraction with a whole i il i (Write your answer without using When I multiply 32 by the number I'm thinking of, the result is also 27
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Find the value. Determine the exponent that goes in th Find the value of this expression. Sclve this equation.
Share with your team how you solved this o With your team, discuss how you could expla (Your tearn has the positive solution.)
that 4° does not equal 0.
7.2x103=72% (25x109@4=10f] [(¥5)*(V2)(V2)]
ANSWER i
100
How many times bigger is 4 = 10° than 4 Determine the value that goes in the Find the value. Gerry and Samantha are looking at this expression. Gerry says,
“We need to consider the order of operations” Samantha says,
Be ready to explain to your team how Your team has an equivalent representation o Be ready to share with your team how you got “We also need to know what happens when you square a square root”
Find the value of the expression.
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Joe wants to write the above value in scienti
What exponent will he use as the pow

Find the value for this expression| Find the value. Find the value that goes in the box to make a true statement.
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Vicki rode her bike to her grandmotherd
She then created this graph.
Hew many miles per hour was Vicky

Micky is recording how long it is taking him o
‘comic books. If Micky continues reading at th
how many comic books will he have read in|

Martha wrote an equation to show how many pies
given amount of time. If P = the number of pies and
hours, how many pies can Martha make in

‘What value goes in the box to make this statement true?

4(2x-3) = 2[3()(

A9
C) Infinite number of salutions

ANSWER

A) Na solution
C) Infinite number of solutions

<)z

Help Hans solve this equation. Help Manuel solve this equation. | ‘Gina says. “ think | need to use the distributive

Help Gina solve for x
(¥our team has the same letter as the co (¥our team has the same letter as the co (Your teamn has the same letter as the correct solution.)
(Your team has the same letter as the co

0020505656550 % %0 % % %"



0% %8

X XXX XA

dtoteds
Petototetototetotode!

QRN

e retetetetetetetotede:

oS0

JRRRIANRIANRN

R
R
’0

R
0000000000000

QIR

2% et

o3,

ot

XS
%’.”0“‘000“‘

o,
059
b9t
0,
9,
%
o2

)
oo
XKL
QS

RRRKEL
ot etete!
BB,
ot etete!
2B,
RN
ZRRRRRS

KR

8
8

KX
oo
X

XX

X
P

TeTeveve%
1 00%0%% %%

3%

Potole!
‘0‘0‘0‘0“ R RRXAAK

e ot ot te et tetetetete!

RRRIIIIIIILLLLLKKL

6% %%
0.0.0.0.0

[

R0RRHANXRS

R
SIS
R
SIS

Doeses
ot

%0%%
120%%

[ 242

e

K2

0000000000 %% QKR X2 00020 %000 %000 00 00 00 00 0 %0 000000 00 e %0 %% %4 % %
QIRKKKKK o0, e e e e et ot tetetotetototototete!
QRS XK ORI RKKIRKKIKIANEEE
Potetotels! RS & X LR
2 %!
oot o tatetotetetotatetotetototet e e e et ete e totatetetotetetetetet
QRN KIKKKRKKIRKLILK, KKK %S 0RRIRIRIIKKAIKKKIRKKKKLIK
RIRIRIRIRHEIAKRRRRRRKK RRKKS RRRXRKK & 3R R R RRRRIRIRRRRRKRKAK

ot
3

B
SN

X%

OKRSRIKKIKKKILK
QIXIKARRIAKKRKL,

QIRRIIRIKRKIKN KL,
QOERIRKKKRRKKEK
0.0.0.0.0.0.9.0.0.0.0.0.0.0.9.0

QSLIRRIRIRIAKLK,

K X K25050505050505¢
o,

o
S
09588
&S
O

0000 0.6 00000000 00 %

e %%
QR

%
0‘:
o%e

Yo%
X

I'm thinking of a number. When
| subtract 1 from my number and
then multiply the difference by 4,
- | get the same value as when |
ANSWER 1 multiply my number by 4 and

[») then subtract 4 from the product

Which equation matches the gr Select the solution to Matty's problel Select the equation that matches this graph.
Aly=4x-1 Bjy=Yux+1 Cjy=-dx-1 A)Nosclution B)& C)-3 D) Infinite numi A)y=-Vix+3 Bly=2x+3 Cly=-2x-3 Aly=2x Bly=x Cx=2 Djy=2

(Your team has the same letter as the co (Your team has the same letter as the co (¥our team has the same letter as the co ({Your team has the same letter as the correct solution.)

ANSWER

Select the answer that best fits this system o Select the answer that best fits this system o Select the answer that best fits this system o Select the answer that best fits this system of equations.
A) No solution  B) One solution: (0) A) No solution  B) One solution: (2 A) Infinite number of soluticns B} When the eq» A) Infinite number of solutions B} No solution

C) Infinite number of solutions D) One 50 €) One solution: (1,2) D) Infinite number the lines meet in one point  C) No solution €) One solution: (~1,3) D) One solution: {3, -1}

(Your team has the same letter as the co (Your team has the same letter as the co (¥our team has the same letter as the co (Your team has the same letter as the correct solution.)

ANSWER
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Select the correct solution to the equa For this graph. select the slope (m) and the yintercept ()

Which letter answer best describes Melanie's error? A
(Your partners have the same letter answer as the from the choices shown.

and -x incorrectly.  B) She forgot to distribute the
term in parentheses. C) She forgot to subtract 5 €) No solution D) One solution: (2

D) She should have divided by 3 before subtracting (Your team has the same letter as the co Be ready to explain your thinking to yo (Your partners have the same letter answer as you do)
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